
MATERIAL LIST CHAIN LINK

JOB NAME PROJECT DESCRIPTION

ACTUAL ITEM QTY SIZE WEIGHT  COST  TOTAL 

Terminal Post ($ -  )              

Terminal Post ($ -  )              

Terminal Post ($ -  )              

Line Post ($ -  )              

Line Post ($ -  )              

Plates 6" Square x 1/4" Galv Plate ($ -  )              

Plates 8" Square x 1/4" Galv Plate ($ -  )              

Fabric ($ -  )              

Fabric ($ -  )              

Fabric ($ -  )              

Rail for Top/Middle ($ -  )              

Rail for Bracing ($ -  )              

Sleeves ($ -  )              

Sleeves ($ -  )              

Terminal Caps ($ -  )              

Terminal Caps ($ -  )              

Terminal Caps ($ -  )              

Brace Bands ($ -  )              

Brace Bands ($ -  )              

Brace Bands ($ -  )              

Rail Ends ($ -  )              

Rail Ends for Bracing ($ -  )              

Line Rail Clamps 2 3/8" x 1 5/8" ($ -  )              

Line Rail Clamps 2 7/8" x 1 5/8" ($ -  )              

Tension Bands ($ -  )              

Tension Bands ($ -  )              

Tension Bands ($ -  )              

Loop Caps/Line Tops ($ -  )              



Loop Caps/Line Tops ($ -  )              

Barb Wire Arms ($ -  )              

Barb Wire Arms ($ -  )              

Barb Wire Corner Arms ($ -  )              

Barb Wire Corner Arms ($ -  )              

Tension Bars ($ -  )              

Tension Bars ($ -  )              

Tie Wire (toprail) ($ -  )              

Tie Wire (linepost) ($ -  )              

Tie Wire (other) ($ -  )              

Barb Wire ($ -  )              

Tension Wire ($ -  )              

Razor Wire 18" x 50' Yield Coil ($ -  )              

Hog Rings ($ -  )              

Bolt/Nuts 5/16 x 1 1/4 ($ -  )              

Bolts/Nuts 5/16 x 2 ($ -  )              

Bolts/Nuts 3/8 x 2 ($ -  )              

Bolts/Nuts 3/8 x 3 ($ -  )              

Bolts/Nuts ($ -  )              

Wedge Anchors 1/2" x 3 3/4" ($ -  )              

Truss Rods ($ -  )              

Truss Rod Tightner ($ -  )              

Gates ($ -  )              

Gates ($ -  )              

Gates ($ -  )              

Gates ($ -  )              

Residential Male Hinges ($ -  )              

Residential Female Hinges ($ -  )              

Residential Drop Rod Assembly ($ -  )              

    Drop Rod Brackets (2) 1 3/8" Drop Rod Guide Only ($ -  )              

    Drop Rod (1) 1/2" x 30" Rod Only ($ -  )              



Res/Comm Fork Latch Collar ($ -  )              

Res/Comm Fork Latch ($ -  )              

Commercial Hinges ($ -  )              

Commercial Hinges ($ -  )              

Commercial Drop Rod Assembly ($ -  )              

    Drop Rod Brackets (3) Commercial Drop Rod Guides ($ -  )              

    Drop Rod with Fork (1) 1 5/8' or 1 7/8" Frames ($ -  )              

Hold Backs ($ -  )              

Center Stop ($ -  )              

Cantilever Rollers ($ -  )              

Cantilever Gate Latch Assembly ($ -  )              

Rolo Kit Double Front Wheel Ass 3 6" Industrial Front Wheel Ass

Rolo Kit Rear Wheel Assembly 7" Rear Wheel ($ -  )              

Rolo Kit Line Track Brackets 2 3/8"- 2 7/8" Line Track Brackets ($ -  )              

Rolo Kit Latch Assembly 1 5/8" PS Latch- NO BRACE BANDS ($ -  )              

Top Rail for Line Track 1 5/8" x 21' DQ40 ($ -  )              

($ -  )              

OTHER ($ -  )              

OTHER ($ -  )              

TOTAL MATERIALS COST ($ -  )              

LABOR TO SET ($ -  )              

LABOR TO BUILD ($ -  )              

($ -  )              

TEAR OUT/HAUL OFF ($ -  )              

EQUIPMENT RENTAL ($ -  )              

MOBILIZATION ($ -  )              

TRAVEL ($ -  )              

HOTEL/PER DIEM ($ -  )              

TOTAL LABOR COST ($ -  )              

TOTAL PROJECT COST ($ -  )              


